Q M= 3 7|8 E(H04-252)
srmqars (RE7IZE 20241 042 132 06A] ~ 042 142 06A)

o
o
No
N
m
R
110
|_\
w
noe
o
()]
>
nx
fl
Of
k!
2
HL
e
oN
4n
O

b M2 TS 7|A NS

O ST (O6A]), = Z&t0| Y2 oLt QIMSE2 O)7L 7|01 MFSE2 SHUCH, AIY2S 2T Msfior S8
SAO 2 500~2,800mO0| 11 1 §Fo| Z&-2 7~10km O A L|Ct

O 25(132)S MajAloA S0z 01S3He 17|Y0| WSS Wot CHX|Z HZOLL HEDSL HFEE HZSAS KLt 7|
S YT} HO|LE 52T OFEIA| 7k 22 L{R! & WRE| AbAH SHOFR| 2 LIC

Ol-—n—Ol Oil?g>

O L2142 Sehe o0l 2itlst 1712o] HES WOt Akt 1 HEARI0] Sof 2 et wRE BB
HIFEE WRE $3 Aol B200M C7los H7|ko| @3S wop YN SITI7} Xkt S2{K | HI7} 2| 2 Lct

ol B

P S 2 2 IYEE
O (HEY 2d) 21t LY HS S Malitsdo=s MAE2Z, HFsd2 WE sHS22 2ot HI8d 2 75380 /
oL, &7 2N F= LS| 22[5HA|7| B LI,

O (QEEE) 2=13Y)1t LHY(14Y) LAH 2= 3 72| FRO| O & xl= MHO0~03A)FE OFF(06~09A]) AFO] ZFA[AHZ]| 7} 1km
O|2te = FHOFX|1, FZ = 300ft O|St= WOt W7t AL, HHof| ZHES| F2lstr| BHELIC
O

20

(Fotaeh) 25(13Y) OFAIEX| AIH0| 4kmIO|2to 2 BHACH 30| EEXMo =z °+7H(1000mD|“f)7r JARUE 2Ol D, LY
(149)2 H2H H530| 3% 15kt, Z|C=7 2<% 25kt LRI 2 T Z6HA 2210, 2t 34 X10|2 2ot g HEx ol&E
LI Ch

O (HFS2) HL14) HFH HE&30| oletitE S0tE0{ 2 HiE Fee 2 S0 = Qlot 5 HZ0| LIEHLIEL(CE &=
St @2 SFE 220 E S20| W35 20k, Z|C=7HE< 35kt LiQ|= Z5tA| 217t IR e @530 45tAH 210

ZeLE2Xj0|2 013t IHE0| L 07} YL
O (A o B2 gl

|

O HIAY
HE B, T BT T AT, AW, AT T 40 B37|4E =2 Y (httpsy/amokmagokn) S8 LM (R
WH O-Z 4 B AH2)0A SHOISHA|7| BrELICE




